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5ll: computer

aspawn ) TFJ O R%Z#da LT,
stdin/stdout T EDZLTL\D

instance.process = spawn(instance.bin, ['—vanilla', '--slave'], { cwd: _ dirname });

instance.id = uuid.v4();

instance.process.stdin.write('cat("ready: '+ instance.id +'");' + '\n');

1) spawn: Node.jshSRID 7O XA &g 9 5w







DEMO

Download code from:
https://github.com/kcrt/libr-bridge/
or
npm install libr-bridge
or
yarn add libr-bridge
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> 1s.vector(l)

[1] TRUE

> 1s.vector("Hello")
[1] TRUE

> 1
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/ 1:arithmetic.c [X] \

static double R_ValueOfNA(void)
{
/* The gcc shipping with Fedora 9 gets this wrong without
* the volatile declaration. Thanks to Marc Schwartz. */
volatile ieee_double x;
x.word[hw] = 0x7ff00000; (=2047)
x.word[1lw] = 1954;
return x.value;

R_IsNA(double x)

1f (isnan(x)) {
ieee_double y;
y.value = Xx;
return (y.word[lw] ==
3

return 0;

}
arithmetic.c [c][utf-8][unix] 1 117/2178 (5%)
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